URNIK KOSIL od 10. 5. 2021

CAs PON TOR SRE CET PET
11.20 |/ / / / 3. A—11.20 (JSD)
11.30 |/ / / 8. C (J2) 3.B—11.30 (JSR)
11.35 |/ 1. B (JSD) / 6. C (J2) 5. B (JSL)

6. B (JSL)
11.40 | 5.B (JSD) 5. C (J2) 1. C (JSD) 1. A (JSD) 4.C (H2)
1. B (u€ilnica) 1. A (JSR) 1. A (ucilnica) 1. B(JSR) -11.45 1. C (ucilnica) — 11.45
11.45 |1.C-11.45 (JSR) > B (3sL) 1. B (JSR) — 11.45 2.A(JZ)-11.50 9.C (J2)
2. A—11.50 (JSL) ' ' 2. C (JSL) — 11.50 2. B (uéilnica) 1. A (JSD) — 11.50
1155 |1-A(JSD) 7. A (JSD) 9. B (J2) 9. A (HZ) 8. B (HZ)
! 9. B (JZ) 1. C (J2) 2. A (JZ) 1. C (JSL) 2.C (J2)
) . 7. A (JSD)
12.00 |9.C (J2) 7.B (JSR) % 7. C (J2) 8. A (JSD) 2. A (u&inica)
12.05 |9.A(H2) % 7. C (JSL) 3. A (H2) 6. A (JSR) 7.C (JSR)
% 7.B (JSL)
12.10 | 6.C (J2) / 4.B (JSR) / 1. B (JSR. JSL)
12.15 | %7.B (J2) 4. A (J2) 4. C (JSL) 4. A (J2) 5.C (J2)
4. B (JSR)
12.20 | 4. A (JSR) 2 A (12) 4. A (JSD) 4. B (HZ) 4. A (JSD)
12.25 | 4.B (JSL) 5. B (JSD) 5. B (J2) 4. C (JSD) 5. A (JSL)
12.30 | 4.C (H2) 5. A (JSL) 5. C (JSR) 5. A (JSR) 4.B (JSR)
12.35 |5.A(J2) 4. C (H2) / / 3.C (H2)
2. B (JSL) 2. B (JSR) 2. C (JSD) 2. B (JSD)
124518 A (H2) z el 8. A (J2) 9. B (HZ) 9. A (J2)
2. C (JSD)
1250 |50 (2) * 6. A (J2) 8. B (J2) 8.B (JZ) * 9. B (J2)
1255 |8.C(J2)* / 8. C (JSD) 8.A(JZ)* % 6. A (HZ)




13.00 |3.A(JSR) 3. B (JSR) 3.B (JSL) 3. A (JSD) % 6. B (JSD)

1310 | 3.B(JsL) 3. A (JSL) 3.C (JSR) 3. B (JSR) 8. A (JSR) * - 13.05
1320 |3.C(32) 3.C (H2) 5. A (H2) > g((ﬂSZLJ)r 32)1251%_20 8. C (JSL) * - 13.10
13.30 | 5.C (JSD) 1 7. C (JSD) / 5. C (J2) /

13.35 |8.C(J2)* .- 8?[)) 9. A (J2) 2% &HSZE) 8. C (J2) *

1340 |8.B(32)* 9.C (32) 9. C (32) 8. B (J2) * 8. A (J2) *

1345 | 7.A (JSD) 8. C (JSR) 1% 7. C (HZ) 7. A (JSD) 6. A (HZ)

1350 | %7.B (JSR) 8. B (JSL) 7.B (JSD) 7.B (JSR) % 6. B (JSD)

1355 | 7.C (JsL) 8. A (JSD) 7. A (JSR) / 6. C (JSR)

1400 |6.B (H2) 6. C (32) 6. B (JSL) / % 7. B (JSL)

1405 |/ / 6. A (HZ) / /

1425 | 6. A (ISD) 6. B (JSD) 6. C (JSD) / /




